PROPOSAL AND BID SCHEDULE

Muniz Concrete
Proposal of <u>& Contracting, Inc.</u> (hereinafter called "Bidder"), doing business as a corporation / a partnership / an individual (strike out inapplicable terms), to the CITY OF
PFLUGERVILLE (hereinafter called "Owner").

Gentlemen:

The Bidder, in compliance with your invitation for bids for the construction of the General Obligation Bond Trail Development Gap Project, having examined the Plans and Specifications and related documents and being familiar with all of the conditions surrounding the construction of the proposed project including materials and supplies, and to construct the project in accordance with the Plans, Specifications and Contract Documents, within the time set forth therein, and in performing the work required under the Contract Documents, of which this proposal is part.

Bidder hereby agrees to commence work under this Contract on or before a date to be specified in written "Notice to Proceed" by the Owner and to fully complete the project within 244 consecutive calendar days thereafter. Bidder further agrees to pay as liquidated damages to the sum set forth in the Special Conditions for each consecutive calendar day thereafter.

Bidder acknowledges receipt of the following ADDENDA:

Addendum No. 1 dated February 22, 2016	Received February 22, 2016
Addendum No. 2 dated	Received

It is understood that the description of work to be done at unit prices is intended principally to serve as a guide in evaluating bids and is not intended to fully describe all work required.

It is further agreed that the work to be done and material to be furnished at unit prices may be increased or diminished as may be considered necessary in the opinion of the Engineer and approved by the Owner to complete the work fully as planned and contemplated, and that estimated quantities may be increased to cover additional work ordered by the Engineer and approved by the Owner, but not shown on the Plans or required by the Specifications, in accordance with the provision of the General Conditions. Similarly, they may be decreased to cover deletion of the work so ordered.

The foregoing prices shall include all labor, materials, removal, overhead, profit, insurance, etc., to cover the finished work called for. Changes shall be processed in accordance with applicable provisions of the General Conditions.

Bidder understands that the Owner reserves the right to reject any or all bids and to waive any informalities in the bidding.

In the event of a mathematical error, the correct product, determined by using the "Unit Price" and "Quantity", and the correct sum, determined by totaling the correct line item Amounts, will prevail over the amount entered by the Bidder. The unit prices shown above will be the unit prices used to tabulate the Bid and used in the Contract, if awarded by the City.

Contract time will be for an 8-month period.

The Contractor will base its bid amount on the CONTRACTOR'S unit prices and the estimated quantities of Work set forth in the Bid Form, which will only be used for the purpose of comparison and evaluation of Bids. The Owner will subsequently issue Work Assignments based on the Owner's needs and not in accordance with the estimated quantities contained in the Bid documents up to the aggregated Contract Amount of \$850,000.00, subject to further appropriations. The unit prices bid by the successful bidder shall remain firm throughout the period of the 8-month period of the CONTRACT.

The Bidder agrees that his bid shall be good and may not be withdrawn for a period of sixty (60) calendar days after the scheduled closing time for receiving bids.

Upon receipt of written notice of the acceptance of this bid, Bidder will execute the formal contract attached within ten (10) days and deliver Surety Bonds as required by the Special Conditions.

The bid security attached in the sum of ______\$35,458.50 ______(five percent (5%) of the bid amount) is to become the property of the Owner in the event the contract and bond are not executed within the time above set forth, as liquidated damages for the delay and additional expense to the Owner caused thereby.

Respectfully submitted:

Lonny D. Rodriguez Jong D. No

Page 2

City of Pflugerville PROPOSAL AND BID SCHEDULE

	Bidder: Muniz Concrete & Contracting, Inc
	Title: Vice President
(Seal – if bid by a corporation)	Address: 3523 Gonzales Street
	Austin, Texas 78762
and the same of th	Phone No: (512) 385-2334
	Facsimile No.: (512) 389-1446
	Date: <u>2/25/2016</u>

Bid Form City of Pflugerville General Obligation Bond Trail Development Gap Project

Bid Item #	Qty	Unit	Item Description	Unit Price		Amount	
Pedestrian	Bridge					•	
1	1	LS	Remove Miscellaneous Concrete	\$	4,250.00	\$	4,250.00
2	20	CY	Class C (topsoil), complete and in place	\$	50.00	\$	1,000.00
3	16	CY	Concrete for Structures, Abutments, complete and in place	\$	750,00	\$	12,000.00
4	48	LF	Drill Shaft, 24 inch Dia., complete and in place	\$	240.00	\$	11,520.00
-	1.700		New P.C. Concrete Sidewalk, 6 Inch Thickness, complete and				
5	1,760	SF	in place	\$	8.00	\$	14,080.00
6	40	LF	Pedestrian ADA Railing, complete and in place	\$	91.50	\$	3,660.00
7	64	SY	Riprap (CONC) (CL B), complete and in place	\$	143.00	\$	9,152.00
8	1	LS	Pedestrian Prefabricated Bridge, complete and in place	\$	102,000.00	\$	102,000.00
9	1	LS	Setting Pedestrian Prefabricated Bridge, complete and in place Crane for Pedestrian Prefabricated Bridge, complete and in	\$	9,930.00	\$	9,930.00
10	1	LS	place	\$	15,883.00	\$	15,883,00
			Traffic Guard Heavy Duty Hinged Bollard with double lock pin			_	· ,
11	2	EA	and foundation, complete and in place	\$	1,680.00	\$	3,360.00
12	1	LS	Mobilization Payments	\$	6,800.00	\$	6,800.00
					Subtotal	\$	193,635.00
Field Engir	neered Trai	1					
1	3,000	SY	Clearing and Grubbing	\$	2.75	\$	8,250.00
2	150	CY	Embankment, complete and in place	\$	45,00	\$	6,750.00
3	25	CY	Flexible Base, complete and in place	\$	50.00	\$	1,250.00
4			Hot Mix Asphaltic Concrete Pavement, Type D, complete and in				
4	15	TON	place	\$	125.00	\$	1,875.00
5	300	LF	Pedestrian ADA Railing, complete and in place	\$	91,50	\$	27,450.00
6	50	LF	P.C. Concrete Steps, complete and in place	\$	15.00	\$	750.00
7			Repositioning and Adjusting Water Meters, complete and in	Ĭ.		١.	
	10	EA	place	\$	350.00	\$	3,500.00
8	8	EA	Adjust Gas Valve Boxes to Grade, complete and in place	\$	100,00	\$	800.00
9	10	EA	Adjust Water Valve Boxes to Grade, complete and in place	\$	100.00	\$	1,000.00
10	9	EA	Adjusting Pull Boxes to Grade, complete and in place	\$	50.00	\$	450.00
11	40		Minor Manhole Height Adjustment, 4' Dia,, complete and in		400.00		4.000.00
	10	EA	place	\$	100.00	\$	1,000.00
12	10	EA	Adjust Electric Meter Manhole to Grade, complete and in place	\$	100.00	\$	1,000,00
			Relocate or Remove and Replace Mailbox, complete and in	Ψ	100.00	*	1,000,00
13	10	EA	place	\$	50.00	\$	500.00
14	10	EA	Adjust Utility Box to Grade, complete and in place	\$	100.00	\$	1,000.00
15	40	LF	18" Reinforced Concrete Pipe, complete and in place	\$	95.00	\$	3,800.00
			Pipe, 12" Dia. PVC (all depths), including Excavation and				
16	300	LF	Backfill, complete and in place	\$	30,00	\$	9,000.00
17			Pipe, 4" Dia. PVC Type (all depths), including Excavation and			_	0.000.00
	300	LF	Backfill, complete and in place	\$	20.00	\$	6,000.00
18	200	LF	Pipe, 4" Dia. PVC sleeves, complete and in place	\$	10.00	\$	2,000.00
19	500	LF	Remove and Replace Existing Irrigation, complete and in place	\$	10.00	\$	5,000.00
20	500	SY	Soil Retention Blanket, Type I, complete and in place	\$	4.00	\$	2,000.00
21	500	SF	Mortared Rock Wall, complete and in place	\$	12,00	\$	6,000.00
41		- OI	New P.C. Concrete Sidewalk, 4 Inch Thickness, complete and	Ψ	12,00	۳	0,000.00
22	6,000	SF	in place	\$	4.50	\$	27,000,00
			New P.C. Concrete Sidewalk, 5.5 Inch Thickness, complete and			<u> </u>	
23	30,000	SF	in place	\$	6.00	\$	180,000.00
24		SF	8" Reinforced Concrete Trail for vehicle traffic, complete and in				
24	1,200		place	\$	7.50	\$	9,000.00
25	200	LF	Remove P.C. Concrete Curb, complete and in place	\$	4.00	\$	800.00
26			Remove PC Concrete Sidewalk and Driveways , complete and	_		_	
	2,000	SF	in place	\$	1.00	\$	2,000.00
27	2,000	SF	Remove Asphaltic Concrete, complete and in place	\$	1.00	\$	2,000.00
28		0.7	Excavation (Above Finished Sidewalk Surface), complete and		40.00	6	2.000.00
	50	CY	in place	\$	40,00	Ψ	2,000.00

Bid Form City of Pflugerville General Obligation Bond Trail Development Gap Project

			Typical Retaining Wall Combination Cantilever-Sidewalk,	Ι			
29	}		Including reinforcement and excavation - max height 3 Foot,				
28	30	CY	complete and in place	\$	500.00	\$	15,000.00
30	50		P.C. Concrete Curb and Gutter (Fine Grading), complete and in		40.00	6	600.00
31	50 20	L.F EA	place Curb Ramp with Pavers (Type I), complete and in place	\$	12.00 700.00	\$	14,000.00
	20		P.C. Sidewalk Curb Ramp with Pavers (Type 1A), low	Ψ	700.00	Ψ	17,000.00
32	10	EA	expansive soil conditions, complete and in place	\$	800.00	\$	8,000.00
33	40		P.C. Sidewalk Curb Ramp with Pavers (Type 1B), low expansive soil conditions, complete and in place		400.00	\$	4,000.00
	10	EA	Flared Type I P.C. Concrete Driveway, low expansive soil	\$	400.00	Ψ	4,000.00
34	4,000	SF	conditions, complete and in place	\$	4.50	\$	18,000.00
35	4.000		Type II P.C. Concrete Driveway, low expansive soil conditions,	,	5.00	Φ.	20,000,00
	4,000	SF	complete and in place High Early Strength Concrete Driveways (supplement to	\$	5.00	\$	20,000.00
36	3,000	SF	driveway per SF cost)	\$	0.50	\$	1,500.00
37			Construction Driveways one-half at a time (Supplement		#0.00	_	500.00
	10	EA	payment per driveway) Inlet, Standard (10-Foot) Including Removal of Existing Inlet	\$	50,00	\$	500.00
38	3	EA	and all Appurtenances, complete and in place	\$	1,500.00	\$	4,500.00
39	3,000	SY	Sodding for Erosion Control, complete and in place	\$	6.00	\$	18,000.00
40	3,000	SY	Watering	\$	0.75	\$	2,250.00
41			Planting, Tree All Types, 3 - 4 Caliper Inches, complete and in				
41	10	EA	place	\$	250.00	\$	2,500.00
42	2,000	SY	Non-Native Seeding for Erosion Control, Fiber Mulch, complete and in place	\$	1.50	\$	3,000.00
43	10	EA	Planting, Shrub, Size 1 Gallon, complete and in place	\$	12.50	\$	125.00
44	30	EA	Tree Protection (Planking per Tree), complete and in place	\$	100.00	\$	3,000.00
45	1,000	LF	Tree Protection fencing, complete and in place	\$	3.00	\$	3,000.00
46	5	EA	Tree Removal, 2"- 9" Dia., complete and in place	\$	400.00	\$	2,000.00
			Removing and Relocating Existing all heights Chain Link	Ť		,	
47	200	LF	Fence, complete and in place	\$	10.00	\$	2,000.00
48	200		Removing and Relocating Existing All heights Wooden Fence,	•	10.00	φ.	2 000 00
	200	LF EA	complete and in place Stabilized Construction Entrance, complete and in place	\$	10,00 1,250.00	\$	2,000.00 5,000.00
49 50	2,000	LF	Silt Fence for Erosion Control, complete and in place	\$	2.00	\$	4,000.00
51	2,000	LS	Mobilization Payments	\$	21,000.00	\$	21,000.00
52	10	EA	C.I.P. Project Signs, complete and in place	\$	325.00	\$	3,250.00
	10	EA	Protective Fencing Type A Chain Link Fence (Typical	Ψ	323,00	Ψ	5,250.00
53	250	LF	Application - high damage potential), complete and in place	\$	3.00	\$	750.00
54	2,000	LF	Safety Fence, complete and in place	\$	2.00	\$	4,000.0
55	400	1 17	Pavement Marking Paint (Reflectorized), 4 in., complete and in place	· ·	2.00	\$	200.00
56	100 25	LF DAY	Arterial One Lane Closure, complete and in place	\$	2.00 350.00	\$	8,750.00
57	10	DAY	One Way Arterial Two-Lane Closure, complete and in place	\$	200.00	\$	2,000.00
	10		Two-Way, Divided Arterial One Lane Closure, complete and in	1		<u> </u>	
58	10	DAY	place	\$	125.00	\$	1,250.0
59		DAV	Bypass Walkway, Sidewalk and Crosswalk Closures, complete		475.00	,	40.050.0
	70	DAY	and in place Collector/Residential Lane Closure, complete and in place	\$	175.00	\$	12,250.0
60	25	DAY	Traffic Signs, Replace or Relocate, complete and in place	\$	350.00 300.00	\$	8,750.0 1,500.0
61	5	EA	Eliminating Existing Pavement Markings, All Widths, complete	φ	300,00	Ψ	1,800.0
62	100	LF	and in place	\$	2.00	\$	200.0
63	5	EA	Pothole, 0' - 2' deep, complete	\$	175.00	\$	875.00
64	5	EA	Pothole, 2' - 4' deep, complete	\$	150.00	\$	750.00
	_		Traffic Guard Heavy Duty Hinged Bollard with double lock pin		4 000 00		2 222 2
A.F.	2	EA	and foundation, complete and in place	\$	1,680.00	\$	3,360.00
65	5	EA	Bollard, complete and in place Filter Curb Inlet Protection, (Existing Inlet), complete and in	\$	100,00	\$	500.00
66	10	EA	place	\$	100.00	 \$	1,000.0
	1			1	Subtotal		515,535.0
					Base Bid	(709,170.0
					Dase Dia	ļ Ψ	100,110.0